Vector A=i—3j —5k.

The angle enclosed (3. s<«s4ll) between vector A and the positive

X-axis is:

A.
B.
C. 45.3°
D.

B 59.59

147.4°
139.7°

80.3¢
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Vector 4 lies in the XY plane and makes an angel 6 with the positive X-
axis. If the y-component of vector A equals 1/3 of its magnitude then ©

IS:

m oo w P

y.10

12.2%
19,59
70.5°
82.9¢

Scanned with CamScanner



Scanned with CamScanner



R

A particle moves with constant acceleration along the X-axis. It takes —«
the particle 2.5 sec to move from X; =2 m to X; = 8 m. If the magnitude

~ofthe particle's velocity at (X; = 8 m) is 2.8 m/s, the magnitude of the
- particle’s acceleration (in m/s?) is: o

A. 0.32 Ko

e 0.96
0.64
0.12
0.25

moQO@

Q )
>

&
vy)

Scanned with CamScanner



Scanned with CamScanner



A ball is fired (<ilkl) from the edge of the top of a building with an initial
velocity of 12.2 m/s at an angle of 53° above the horizontal. The ball _
strikes (=»=3) the ground at a horizontal distance of 25 m from the base
of the building. Assume that the ground is level (&15.4) and that the side
-of the building is vertical. How taII is the buuldmg? '

18.7 m
15.1 m
774 m
50.3 m
235m

moo®>
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Att= 0, a particle leaves the origin with a velocity of 6.3 m/s in the
positive y direction and moves in the XY- plane with a constant

acceleration of (2{ — 4f°) m/s%. At the instant the X-coordinate of the

particle is 15 m, the speed (magmtude of the velocity) (ln m/s} of the -
particle is: ' :

Al 12 B
B 1530
ch7s §

D. 23.6

E. 16
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Given the two vector's:_-ﬁ = '(42 - 2}‘) and B = (21+ 3]“} &= _
The magnitude of their cross product (| AXZ ' ) is: | |
B.

C. 18

0. 13

E. Zef@
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A particle moves along the X-axis. Its position changes with time
according to: X(t) = 4t3 - 2t2, where X is in meters and t is in seconds.

The magnitude of the particle’s acceleration att = 3 sec is:

A.

moNw

44 m/s?
20 m/s?
92 m/s?
68 m/s?
Zero
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The position-time graph for a particle moving along the X-axis is shown
below. The average velocity of the particle between t =4 and t =5 sec

IS:

mo o P

+10 m/s
+5 m/s
-5 m/s
-10 m/s
Zero

X(m)

10 |-

-10 |-
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The height (in m) from which an object must be released from rest such

moOn ®

that it hits the ground at a speed of 10 m/s is:
A‘ ;

20.4
45.9
5.1

. 1.8

81.6
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A stone is tied (+=2)) to a string ((=23) of length R and whirled (Us%)
initially at constant speed such that it makes one revolution (:_s?) each
second. If the speed of the stone is then tripled (—slxzl Z30), the ratio
(4xadll) of the final radial acceleration of the stone to the initial one

(8 rac)/3(ratj) 1"
A.
B.
C. 6
D.
E

0.25
"

4
9
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A ball is fired (<ilkl) from the edge of the top of a building with an initial
velocity of 12.2 m/s at an angle of 50° above the horizontal. The ball
strikes (—_~=5) the ground at a horizontal distance of 25 m from the base
of the building. Assume that the ground is level (% 5is) and that the side
of the building is vertical. How tall is the building?

187 m
151 m
774 m
503 m
23.5m
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At t = 0, a particle leaves the origin with a velocity of 7.3 m/s in the
positive y direction and moves in the XY- plane with a constant
acceleration of (27" — 4 ) m/s?. At the instant the X-coordinate of the
particle is 15 m, the speed (magnitude of the velocity) (in m/s) of the

particle is:
A 8

B. 11.3
C. 19.6
D. 235
E. 16
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